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Horizontal and Vertical Distance Study Guide
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Other Distances
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Slope Study Guide

m = rise :72-1‘ = A_\/_
Slope v Teexe X
N = mx tb
Slope Intercept
M= Blope b= - infercept
Standard Form Ax t By =C

A, B +C are numbers

Point Slope

N =Y e mlx-x,)
(x,,\,,)- point  m=8lope

Parallel Lines
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Given points (-2, 3) and (4,-3), fill in the following

information:
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Write the equation of a line that is parallel to }
y = @ + 3 and passes through the points (4,-3).
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Write the equation of a line that is perpendicular to
y =(3x — 6 and passes through the point (—§,i‘).
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